Advances in the Theory of Nonlinear Analysis and its Applications **2** (2018) No. 2, 106-112. https://doi.org/10.31197/atnaa.402721 Available online at www.atnaa.org Review Article



# On Ulam stability of the second order linear differential equation

Dorian Popa<sup>a</sup>, Georgiana Pugna<sup>a</sup>, Ioan Rașa<sup>a</sup>

<sup>a</sup> Technical University of Cluj-Napoca, Department of Mathematics, 28 Memorandumului Street, 400114, Cluj-Napoca, Romania.

# Abstract

We obtain a result on Ulam stability for a linear differential equation in Banach spaces. As application we give a result on the stability of Heun's differential equation.

*Keywords:* Ulam stability, Banach spaces, Heun equation 2010 MSC: 34D20, 34G10, 34K38.

# 1. Introduction

In chapter six of the book Problems in Modern Mathematics, S.M. Ulam formulated the following question: When is it true that by changing "a little" the hypothesis of a theorem one can still assert that the conclusion of the theorem remains true or approximately true? For very general functional equations one can ask the following question: when is it true that the solution of an equation differing slightly from a given one, must by necessity be close to the solution of the given equation? (see [13], pg. 63).

A precise formulation of such a question was made by S.M. Ulam in 1940 in the case of the equation of the homomorphism of groups, during a talk at Madison University, Wisconsin. S.M. Ulam called the equation of homomorphism *stable* if the answer to the previous question is affirmative. For more details and results on the stability of functional equations we refer the reader to [1, 2, 3]. The first answer to Ulam's question was given by D.H. Hyers who proved that Cauchy's functional equation is stable (see [3]). M. Obłoza investigated for the first time the Ulam stability of differential equations and the relation between Lyapunov and Ulam stability [7, 8].

Email addresses: Popa.Dorian@math.utcluj.ro (Dorian Popa), Georgiana.Pugna@math.utcluj.ro (Georgiana Pugna), Ioan.Rasa@math.utcluj.ro (Ioan Raşa)

A characterization of Ulam stability of the first order linear differential equation was obtained by T. Miura, S. Miyajima and S.E. Takahasi [6]. Results on Ulam stability of some second order linear differential equations were obtained by S.M. Jung using the power series method [4, 5]. D. Popa, G. Pugna and I. Raşa studied the stability of the linear differential equation of order n and of Euler's linear differential equation [9, 10, 11].

Remark that, as far as we know, a characterization of Ulam stability for a second order linear differential equation of general form is not available, but there are many papers containing stability results for various particular forms of this equation.

In the present paper we consider a linear differential equation of second order of general form in Banach spaces and study its Ulam stability. The main result is obtained under the hypothesis that the corresponding scalar equation admits a solution different from zero.

Finally, we give an application to Ulam stability of Heun's differential equation.

#### 2. Main result

In what follows let  $I = (a, b), a, b \in \mathbb{R} \cup \{\pm \infty\}, c \in I \cup (\{a, b\} \cap \mathbb{R}), \mathbb{K}$  be one of the fields  $\mathbb{R}$  or  $\mathbb{C}$ ,  $p, q \in C(I, \mathbb{K}), (X, \|\cdot\|)$  be a Banach space over the field  $\mathbb{K}$ . We give a result on generalized Ulam stability of the second order linear differential equation

$$y''(x) + p(x)y'(x) + q(x)y(x) = 0, \qquad x \in I,$$
(2.1)

where  $y \in C^2(I, X)$  is the unknown.

The equation (2.1) is called Ulam stable if for each  $\varepsilon > 0$  there exists  $\delta > 0$  such that for every  $y \in C^2(I, X)$  satisfying the relation

$$\left\|y^{''}(x) + p(x)y'(x) + q(x)y(x)\right\| \le \varepsilon, \qquad x \in I,$$
(2.2)

there exists a solution  $y_0 \in C^2(I, X)$  of the equation (2.1) with the property

$$||y(x) - y_0(x)|| \le \delta, \quad x \in I.$$
 (2.3)

In other words the equation (2.1) is called Ulam stable if for every solution y of (2.2) there exists an exact solution  $y_0$  of the equation (2.1) close to y. If in the previous definition  $\varepsilon$  and  $\delta$  are replaced by some functions  $\varphi$  and  $\psi$  depending on  $x \in I$ , the equation (2.1) is called generalized Ulam stable. Recall first a result of D. Popa and I. Raşa on the stability of the first order linear differential equation which will be used in the sequel.

**Theorem 2.1.** [9] Let  $\lambda \in C(I, \mathbb{K})$ ,  $f \in C(I, X)$ ,  $\varepsilon \in C(I, \mathbb{R})$ , with  $\varepsilon > 0$  on I. Then for every  $y \in C^1(I, X)$  satisfying the relation

$$\left\|y'(x) - \lambda(x) \cdot y(x) - f(x)\right\| \le \varepsilon(x), \qquad x \in I,$$
(2.4)

there exists a unique  $u \in C^{1}(I, X)$  such that  $u'(x) - \lambda(x)u(x) - f(x) = 0$ ,  $x \in I$ , and

$$||y(x) - u(x)|| \le \psi_c(x), \quad x \in I,$$
(2.5)

where

$$\psi_c(x) := e^{\Re L(x)} \left| \int_c^x e^{-\Re L(t)} \varepsilon(t) dt \right|, \qquad x \in I,$$
(2.6)

and L is an antiderivative of  $\lambda$ , i.e.,  $L' = \lambda$  on I.

$$w''(x) + p(x)w'(x) + q(x)w(x) = 0, \qquad x \in I.$$
(2.7)

In other words the hypothesis (H) says that the corresponding scalar equation associated to the equation (2.1) admits a solution which does not vanish on I.

A representation theorem for the solutions of the equation (2.1) is given in the next lemma.

**Lemma 2.2.** Let  $y \in C^2(I, X)$  be a solution of the equation (2.1) and  $x_0 \in I \cup (\{a, b\} \cap \mathbb{R})$ . Then there exist  $k_1, k_2 \in X$  such that

$$y(x) = w(x) \left( k_1 \int_{x_0}^x e^{-\Lambda(t)dt} + k_2 \right), \quad x \in I,$$
 (2.8)

where  $\Lambda$  is an antiderivative of the function

$$\lambda = \frac{2w' + pw}{w}.\tag{2.9}$$

*Proof.* Let y be a solution of (2.1) and  $u(x) = \frac{y(x)}{w(x)}$ ,  $x \in I$ . Then y = wu, y' = w'u + wu', y'' = w''u + 2w'u' + wu'' and

$$u''(x) + \frac{2w'(x) + p(x)w(x)}{w(x)}u'(x) = 0, \qquad x \in I.$$
(2.10)

Then the function z = u' satisfies the relation

$$(z(x)e^{\Lambda(x)})' = 0, \qquad x \in I,$$

so there exists  $k_1 \in X$  such that  $z(x) = k_1 e^{-\Lambda(x)}, x \in I$ . Finally, for a certain  $k_2 \in X$ ,

$$u(x) = k_1 \int_{x_0}^x e^{-\Lambda(t)} dt + k_2, \qquad x \in I.$$

We conclude that (2.8) is true.

The main result of this paper is contained in the next theorem.

**Theorem 2.3.** Let  $\varphi \in C(I, \mathbb{R})$ ,  $\varphi > 0$ . For every  $y \in C^2(I, X)$  satisfying the relation

$$\left\|y^{''}(x) + p(x)y'(x) + q(x)y(x)\right\| \le \varphi(x), \qquad x \in I,$$
(2.11)

and every  $c_1 \in I \cup (\{a, b\} \cap \mathbb{R})$  there exists a solution  $y_0 \in C^2(I, X)$  of the equation (2.1) such that

$$\|y(x) - y_0(x)\| \le |w(x)| \cdot \left| \int_{c_1}^x \psi_c(t) dt \right|, \qquad x \in I,$$
(2.12)

where P is an antiderivative of p and

$$\psi_c(x) = \frac{1}{|w(x)|^2 e^{\Re P(x)}} \left| \int_c^x e^{\Re P(t)} \varphi(t) \cdot |w(t)| \, dt \right|, \qquad x \in I.$$
(2.13)

Moreover, if  $c_1 = c$  then  $y_0$  is uniquely determined.

*Proof.* Let  $y \in C^2(I, X)$  satisfying (2.11) and  $u(x) = \frac{y(x)}{w(x)}, x \in I$ . Then (2.11) becomes

$$\left\| u^{''}(x) + \frac{2w^{'}(x) + p(x)w(x)}{w(x)}u^{'}(x) \right\| \le \frac{\varphi(x)}{|w(x)|}, \quad x \in I,$$

or

$$\left\|z'(x) + \lambda(x)z(x)\right\| \le \frac{\varphi(x)}{|w(x)|}, \qquad x \in I,$$

where

$$\lambda(x) = \frac{2w'(x) + p(x)w(x)}{w(x)}, \qquad z(x) = u'(x), \qquad x \in I$$

Let  $\varepsilon(x) := \frac{\varphi(x)}{|w(x)|}, x \in I$ , and L an antiderivative of  $-\lambda, L = -\Lambda$ . Then

$$\Re L(x) = -2ln |w(x)| - \Re P(x), \qquad x \in I.$$

According to Theorem 2.1, it follows that there exists a unique  $z_0 \in C^1(I, X)$  such that

$$z'_0(x) + \lambda(x)z_0(x) = 0, \qquad x \in I,$$

and

$$||z(x) - z_0(x)|| \le \psi_c(x), \quad x \in I.$$

Now let  $c_1 \in I \cup (\{a, b\} \cap \mathbb{R}), u_0 \in C^1(I, X)$  such that  $u'_0(x) = z_0(x), x \in I$ , and  $u_0(c_1) - u(c_1) = 0$ . Hence

$$\left\| u'(x) - u'_0(x) \right\| \le \psi_c(x), \quad x \in I,$$

and

$$\left\|\int_{c_1}^x (u'(t) - u'_0(t))dt\right\| \le \left|\int_{c_1}^x \left\|u'(t) - u'_0(t)\right\| dt\right| \le \left|\int_{c_1}^x \psi_c(t)dt\right|,$$

therefore

$$||u(x) - u_0(x)|| \le \left| \int_{c_1}^x \psi_c(t) dt \right|, \quad x \in I.$$

Let

$$y_0(x) = w(x)u_0(x), \qquad x \in I.$$

Then  $y_0$  satisfies the equation (2.1) and

$$||y(x) - y_0(x)|| \le |w(x)| \cdot \left| \int_{c_1}^x \psi_c(t) dt \right|, \quad x \in I.$$

The existence is proved.

Uniqueness. Suppose that  $c_1 = c$  and for an  $y \in C^2(I, X)$  satisfying (2.11) there exist two solutions  $y_1$ ,  $y_2 \in C^2(I, X)$  of the equation (2.1) such that

$$\|y(x) - y_k(x)\| \le |w(x)| \cdot \left| \int_c^x \psi_c(t) dt \right|, \qquad x \in I.$$

Then, according to Lemma 2.1

$$y_{1}(x) = w(x) \left( k_{1} \int_{c}^{x} e^{-\Lambda(t)} dt + k_{2} \right), \qquad x \in I,$$

$$y_{2}(x) = w(x) \left( k_{3} \int_{c}^{x} e^{-\Lambda(t)} dt + k_{4} \right), \qquad (2.14)$$

where  $k_1, k_2, k_3, k_4 \in X$ . We get

$$||y_1(x) - y_2(x)|| \le ||y_1(x) - y(x)|| + ||y(x) - y_2(x)||$$
  
$$\le 2 |w(x)| \cdot \left| \int_c^x \psi_c(t) dt \right|, \quad x \in I,$$

or taking account of (2.14) it follows

$$\left\| (k_1 - k_3) \int_c^x e^{-\Lambda(t)} dt + k_2 - k_4 \right\| \le 2 \left| \int_c^x \psi_c(t) dt \right|, \quad x \in I.$$
(2.15)

Letting  $x \to c$  in (2.15) we get  $k_2 = k_4$ . Thus (2.15) becomes

$$\left\| (k_1 - k_3) \int_c^x e^{-\Lambda(t)} dt \right\| \le 2 \left| \int_c^x \psi_c(t) dt \right|, \quad x \in I.$$

Since  $e^{-\Lambda(c)} \neq 0$ , it follows that there exists a neighborhood V of c such that

$$\|k_1 - k_3\| \le 2 \left| \frac{\int_c^x \psi_c(t) dt}{\int_c^x e^{-\Lambda(t)} dt} \right|, \quad x \in I \cap V, \quad x \neq c.$$

Taking account of

$$\lim_{x \to c} \frac{\int_c^x \psi_c(t)dt}{\int_c^x e^{-\Lambda(t)}dt} = \lim_{x \to c} \frac{\left(\int_c^x \psi_c(t)dt\right)'}{\left(\int_c^x e^{-\Lambda(t)}dt\right)'} = \frac{\psi_c(c)}{e^{-\Lambda(c)}} = \frac{0}{e^{-\Lambda(c)}} = 0$$

it follows  $k_1 = k_3$ , therefore  $y_1 = y_2$ .

Uniqueness is proved.

# 3. Application

We give an application concerning the Ulam stability of Heun's differential equation. Heun differential equation is usually written in the form

$$y^{''}(x) + \left(\frac{\gamma}{x} + \frac{\delta}{x-1} + \frac{\varepsilon}{x-a}\right)y^{'}(x) + \frac{\alpha\beta x - q}{x(x-1)(x-a)}y(x) = 0,$$

where  $a, \alpha, \beta, \gamma, \delta, \varepsilon, q$  are real (or complex) constants,  $a \neq 0$ ,  $a \neq 1$  and  $\alpha + \beta + 1 = \gamma + \delta + \varepsilon$ . Heun equation has many applications in physical science. It is recently encountered in problems in general relativity and astrophysics. We deal with Ulam stability of a particular case of Heun's equation, namely

$$y''(x) + \left(\frac{1}{x} + \frac{1}{x-1} + \frac{-2n}{x-\frac{1}{2}}\right)y'(x) + \frac{-2nx+n}{x(x-1)(x-\frac{1}{2})}y(x) = 0,$$
(3.1)

where n is a positive integer and  $y \in C^2(I, \mathbb{R})$ .

A particular solution of the equation (3.1), related to Bernstein polynomials, is

$$F_n(x) = \sum_{k=0}^n \left( \binom{n}{k} (x^k (1-x)^{n-k}) \right)^2, \qquad x \in [0,1].$$

See for more details [12]. We will prove that equation (3.1) is Ulam stable in classical sense on the interval  $I = (0, \frac{1}{2})$ .

**Theorem 3.1.** Let  $\varepsilon > 0$ . For every  $y \in C^2(I, \mathbb{R})$  such that

$$\left|y''(x) + \left(\frac{1}{x} + \frac{1}{x-1} + \frac{-2n}{x-\frac{1}{2}}\right)y'(x) + \frac{-2nx+n}{x(x-1)(x-\frac{1}{2})}y(x)\right| \le \varepsilon, \qquad x \in I,$$
(3.2)

there exists a unique solution  $y_0$  of the equation (3.1) with the property

$$|y(x) - y_0(x)| \le \frac{M\varepsilon}{2}, \qquad x \in I,$$

where  $M = \max_{x \in [0, \frac{1}{2}]} \psi(x)$ , and

$$\psi(x) = \frac{(\frac{1}{2} - x)^{2n}}{x(1 - x)F_n^2(x)} \int_0^x \frac{t(1 - t)}{(\frac{1}{2} - t)^{2n}} F_n(t)dt, \qquad x \in \left(0, \frac{1}{2}\right)$$
$$\psi(0) = \psi\left(\frac{1}{2}\right) = 0.$$

*Proof.* Let  $y \in C^2(I, \mathbb{R})$  be a function satisfying (3.2) and

$$p(x) = \frac{1}{x} + \frac{1}{x-1} + \frac{-2n}{x-\frac{1}{2}}, \quad q(x) = \frac{-2nx+n}{x(x-1)(x-\frac{1}{2})}, \qquad x \in I.$$

Then  $P(x) = \ln \frac{x(1-x)}{(\frac{1}{2}-x)^{2n}}$ , and for c = 0,  $\varphi(x) = \varepsilon$ ,  $x \in I$ , in (2.13) we have

$$\psi_0(x) = \frac{\varepsilon(\frac{1}{2} - x)^{2n}}{x(1 - x)F_n^2(x)} \int_0^x \frac{t(1 - t)}{(\frac{1}{2} - t)^{2n}} F_n(t)dt, \qquad x \in I.$$

The function  $\frac{\psi_0}{\varepsilon}$  can be extended to a continuous function on the interval  $[0, \frac{1}{2}]$ . Indeed

$$\lim_{x \to 0} \psi_0(x) = \frac{\varepsilon}{2^{2n}} \lim_{x \to 0} \frac{1}{x} \int_0^x \frac{t(1-t)}{(\frac{1}{2}-t)^{2n}} F_n(t) dt$$
$$= \frac{\varepsilon}{2^{2n}} \lim_{x \to 0} \frac{x(1-x)}{(\frac{1}{2}-x)^{2n}} F_n(x) = 0,$$

according to l'Hospital's theorem. Analogously

$$\lim_{x \to \frac{1}{2}} \psi_0(x) = \frac{4\varepsilon}{F_n^2(\frac{1}{2})} \lim_{x \to \frac{1}{2}} \left(\frac{1}{2} - x\right)^{2n} \int_0^x \frac{t(1-t)}{(\frac{1}{2} - t)^{2n}} F_n(t) dt$$
$$= \frac{4\varepsilon}{F_n^2(\frac{1}{2})} \lim_{x \to \frac{1}{2}} \frac{\int_0^x \frac{t(1-t)}{(\frac{1}{2} - t)^{2n}} F_n(t) dt}{(\frac{1}{2} - x)^{-2n}}$$
$$= \frac{4\varepsilon}{F_n^2(\frac{1}{2})} \lim_{x \to \frac{1}{2}} \left(\frac{1}{2} - x\right) \cdot \frac{x(1-x)F_n(x)}{2n} = 0.$$

Therefore we can extend  $\frac{\psi_0}{\varepsilon}$  to a continuous function  $\psi$  on  $[0,\frac{1}{2}]$  with

$$\psi(0) = \psi\left(\frac{1}{2}\right) = 0.$$

Taking  $w(x) = F_n(x)$ ,  $x \in I$ ,  $c = c_1 = 0$  in Theorem 2.2 it follows that there exists a unique solution  $y_0$  of the equation (3.1) such that

$$|y(x) - y_0(x)| \le \varepsilon F_n(x) \int_0^x \psi(t) dt, \quad x \in I$$

On the other hand  $sup_{x\in I}F_n(x) = 1$ , hence

$$F_n(x)\int_0^x \psi(t)dt \le \int_0^{\frac{1}{2}} Mdt = \frac{M}{2}, \qquad x \in I$$

The theorem is proved.

## References

- [1] J.Brzdęk, D. Popa, I. Raşa, B. Xu, Ulam stability of Operators, Academic Press, 2018.
- [2] G.L. Forti, Hyers-Ulam stability of functional equations in several variables, Aequationes Mathematicae, 50(1995), 143-190.
- [3] D.H. Hyers, G. Isac, Th.M. Rassias, Stability of Functional Equations in Several Variables, BirkhÃďuser, Boston, 1998.
- [4] S.M. Jung, H. Şevli, Power series method and approximate linear differential equations of second order, Adv. Difference Equ., (2013), 1-9.
- [5] B. Kim, S.M. Jung, Bessel's differential equation and its Hyers-Ulam stability, J. Ineq. Appl., (2007), 8 pages.
- T. Miura, S. Miyajima, S. E. Takahasi, A characterization of Hyers-Ulam stability of first order linear differential operators, J. Math. Anal. Appl., 286(2003), 136-146.
- [7] M. Obłoza, Hyers-Ulam stability of the linear differential equation, Rocznik Nauk.-Dydakt. Prace Mat., 13(1993), 259-270.
- [8] M. Obłoza, Connections between Hyers and Lyapunov stability of the ordinary differential equations, Rocznik Nauk.-Dydakt. Prace Mat., 14(1997), 141-146.
- [9] D. Popa, I. Raşa, On the Hyers-Ulam stability of the linear differential equation, J. Math. Anal. Appl., 381(2011), 530-537.
- [10] D. Popa, I. Raşa, Hyers-Ulam stability of the linear differential operator with nonconstant coefficients, Appl. Math. Comput., 219(2012), 1562-1568.
- [11] D. Popa, G. Pugna, I. Raşa, Bounds of solutions of some differential equations and Ulam stability, submitted.
- [12] I. Raşa, Entropies and Heun functions associated with positive linear operators, Appl. Math. Comput., 268 (2015), 422-431.
- [13] S.M. Ulam, Problems in Modern Mathematics, Wiley, New York, 1960.